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2y  072% (-0.2bp)
10y 1.56% (-2.8bp)
30y 2.28% (-4.3bp)
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q= 0.67% (-2.5bp)

Re=el] -0.14% (-2.4bp)

m2tA 0.16% (-1.6bp)

O|Ef2|0}  1.21% (+2.4bp)

Aol 0.89% (-1.9bp)

ag|a 8.19% (-4.2bp)
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DOW30 18228.30 (+0.74%)
NASDAQ 5305.71 (+0.92%)
S&P500 215993 (+0.64%)

NIKKEI225  16683.93 (+0.84%)
SHANGHAI 2998.17 (+0.60%)

FTSE100 6807.67 (-0.15%)
DAX30 10361.48 (-0.31%)
CAC40 4398.68 (-0.21%)
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WTI 44.67 (-2.7%)
COMEXE@ 133040 (-1.0%)
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[Am 2062.82 (+0.77%)
AL 687.99 (+0.18%)
|/ 1096.50 (-11.40)
KTB 110.79 (-0.01)
LKTB 132.34 (-0.01)
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ly 1.3250%  (+0.40bp)
3y 1.3050%  (-0.30bp)
Sy 1.3420% (+0.20bp)
10y 1.4940% (-0.10bp)
20y  1.5040% (-1.30bp)
30y 1.5100% (-1.30bp)
CD 1.3400% ( 0.00bp)
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7. 22 A% Ampc

1Y -530bp  (-0.25bp)

2Y -7.55bp  (+0.10bp)
3y  -475bp  (+0.80bp)
5Y -595bp  (+0.55bp)
10Y  -14.90bp (+1.10bp)
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1Y 12800% (+0.25bp)

2Y 12625%  (+0.50bp)

3y  12575%  (+0.50bp)

5Y 1.2825%  (+0.75bp)

7Y  13000% (+0.75bp)

10Y 13450%  (+1.00bp)

1*2Y -175 (+0.25bp)

2*3Y  -050  (+0.00bp)

2*5Y 200 (+0.25bp)

3*5Y 250  (+0.25bp)

5*7Y 175  (0.00bp)

5*10Y  6.25 (+0.25bp)
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1Y 12050% (+0.50bp)
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2Y 1.0500% (+0.50bp)
3Y 1.0250% (+0.50bp)
5Y 0.9600% (+0.50bp)
7Y 0.9050%  (+0.50bp)
10Y 0.8750%  (+0.50bp)
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